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2x2 +5x+2=(2x+1)(x +2)

wetA] S8 9] 2ol 2((2x + 1) + (x4 2)} = 6x + 6 ©]T}.




3. 9a*-16p* = -12 0|1 3a—4b =4 & W}, 3a + 4b ] FE FotH?

@ 2 @ 3 ®@-2 @-3 0©-

(3a + 4b)(3a — 4b) = —12
So3a+4b = -3
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4x*+Axy+9y* = (Bx+Cy)? 4 o, o]& W=sk= Al A1 A, B, C
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D 14 @ 15 ® 16 @17 ® 18
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(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 4x% + Axy + 9y?

B=2 C=3, A=12

A+B+C=124+243=17
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l<x<49d, Vx2-2x+1- Vx2-8x+ 16 2 7Its
® 2x-2 @ 2x+1 @2x—5
@ 3x-1 ® 3x+1
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Vx2—2x+1- Yx2-8x+ 16
= (x=-1)2= /(x—4)2
=|x—-1]—|x—4
=x—-14+x-4=2x-5
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D 972 = (100 — 3)% = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52 — 0.12 = 24.99

® 3012 = (300 + 1) = 3002 + 2 x 300 x 1 + 12 = 90601
@ (VI+ VB)(V2- VB) = (VD)2 - (VB)? = -1
@)(-VI0- VB (VI0- 3) = (VIO - (¥ = &
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® (- V10 - V2)(V10 - V2)
- V2 - VI0)(- V2 + V10)
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® a® - 2ab + b?

@ a® + 2ab + b?
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(@)a2 - b? ® a? + b2
® a® + 2ab
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8. a(2a-b) - (b-2a) & AFES5H?

@® (a-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @)(a+1)(2a-0)
® a(2a-b)

a(2a—b) — (b—2a) = a(2a - b) + (2a - b)
=(2a-b)(a+1)




9.

2x%+5x-12 = (2x+a

)
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@ (x-3)(x-4) @ (x+3)(x+4) ® (x-6)(x+2)
@-3)x+0)  © (x-2)(x+6)

2x2 +5x-12=(2x-3)(x +4)
La=-3,b=4
X2t (a+b)xt+ab=x*+x-12 = (x+4)(x-3)
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A a, b ol ot a-b 2] 2?7 (Fa>b)

(5x+y)(bx+y-3)-18
— A(A-3)-18
=A?2-3A-18=(5x+y+a)(bx+y+b)

@ 4 @ 6 ®7 @ 8

B

5x+y=A & %&olH
(5x+y)(5x+y —3) — 18
—AA-3)-18
—A2-34-18

= (A+3)(A-6)

= (5x+y+3)(5x+y-6)

Wb, a=3, b=-6 122 a—b=9 °|t},
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® x-1 ® x2-1 @ #-1

@)x° -1 ® #-1
@




12. a:1+ﬁ,b:1-ﬁw1,§ -4 o e

O -4+v2 @ -2+2 ® 22
@4«/5 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1
a+b=(14+V2)+(1-v2) =2
a-b=(1+V2)-(1-V2) =22

a b?-d?
b ab
—(a+b)(a-b)

ab
-2x22
T
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b
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(@] +36x+[©] = (2x+[©)*

632 + 1+ (@] = (B3r+5)(2x + @)

D 6.0 @ 5,0, ® 06
® 0@ ®e.e
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@:22=4
©:4x©=36, .©=9
©: 92 =281

@:10+3x@=1,.@=-3
®: (-3)x5=-15




14, 49x2 -9+ ldxy +y? = ¢

15235k EHY (ax+y+b)(ax +cy + 3)
7F = ek o, 444 a, b, ¢ ol ot a— b+ ¢ O] FZ FoFH?

@ 2 @ 4 ® 6 @11 ® 16

B

49x? + 14xy +y? -9 = (Tx +y)? - 32

=(Tx+y+3)(7Tx+y-3)
a=7,b=-3,c=1

La-b+c=11
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A} ABFE, EGHD & FAtzZtgolnz
GF=y-(x-y)=2y-x,FC=x-y
2 AR Wole (2y - x)(x-y) otk




